Interpreting Histograms
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The histogram shows information about test scores, as percentages, for some
students.
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1 (a) Complete the frequency table for this information. [2 marks]

Test Score, S (%) Frequency
0<S<20 30
20 < S <50 | R
50<S <60 3\
60<S <100 | 6

1 (b) Work out an estimate for the number of students who scored more than 70% in
the test. [2 marks]

O-Lx20=)2
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2 The histogram shows information about the speed of 30 vehicles on a road.
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2 (a) The speed limit on the road is 60 mph.
Work out the percentage of the vehicles that were exceeding the speed limit.

[2 marks]
_é— x (00

a0
Answer Q\ O %

2 (b) Work out an estimate for the mean speed of the 30 vehicles. [4 marks]
[ISxe = 990 o + 320 + 550 + 340
4LO x 8§ = 320 = \2S0
SSx (0 = SSO
6Sx 6 = 390 I3SO+ 30 = 4S

Answer &S mph
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3 The histogram shows information about the times spent waiting at an emergency
department.
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3 (a) Work out an estimate for the median time spent waiting. [2 marks]
W
20 +9+ b+ 3= 48 6 x20= S
¢+ - l([}m person 40+ S = &S
Answer L\' S minutes
3 (b) Work out an estimate for the interquartile range of the wait times. [3 marks]

4 U= (7™ Derson 2% 36" person

/kaO 2

O+ = 24 (LO)
|QR=631- 1y

Answer
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4 The histogram shows information about the masses of some apples growing in a
garden.
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4 (a) Work out an estimate for the median mass of the apples. [2 marks]

00 + [SO+ SO+WO = 200 55 x 60 = 34
100 + ) = SO™ dgp\c 20+ % = bb

66

Answer grams

4 (b) Work out an estimate for the interquartile range of the masses of the apples.

[3 marks]
100 s4= st qPP\e' IS x3 =28 apple
lsox60 6 j”“ozg
10+ 6= W (LQ) Qo+ 3= 93 (UB)
IQR=92- 6
Answer S q\ grams
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5 The histogram shows information about the ages of people attending a football
match.
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The table below shows the ticket prices for the football match.

Child Adult Senior
(18 years or under) (60 years or over)
£20 £35 £25

Work out how much money the football club received for ticket sales for this
match. [4 marks]

2200 x $20= E&Y% 000
2Soo x £3S= L8FS 000
S600 x £25=214000D

£\ S14000

Answer £ \ ) \gﬂ,OOO
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6 The histogram shows information about the weekly pay of 600 workers at a
company.
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6 (a) One of the employees makes the following claim:

“60% of the workers at the company earn less than the mean weekly pay”

By working out an estimate for the mean, show that the employee may be correct.
[4 marks]

SO %X 330 = 16500 320002600 = 120(mean)
(SOX (SO = LS00 2pxl-s= 30

22Sx 6S = I1461S  330+720 = 26D
300X 40 * \LoOO 360 4 (p0 = 607>

Llsx \S = 61as  oe° -

00O 32000

6 (b) Explain why your answer to part (a) does not guarantee that the employee is
correct. [1 mark]

ﬂ\e Weuan, was an e,bjn'ma.kt.'\v\ﬁ/\‘ruc,

nmean wuld be \m‘g‘f\er or |ower.
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7 The histogram shows information about the finish times of some runners at a
5 km race.
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7 (a) Runners who ran faster than the qualifying time win entry to the next race.
10% of the runners ran faster than the qualifying time.

Work out an estimate for the qualifying time.

RO +10 + 190 +(R0 +40 = bOO
(Oo/o 03’600: 60

go

Answer

—Gfo-xloz_-]—-s

-

S

7 (b) Sam was the 102" person to complete the race.

Work out an estimate for Sam’s average speed in metres per second.

Give your answer to 3 significant figures.

>~ xS =

[0

1O+ =
Answer
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Distanee =

)\\ Ming

Tme = Q1x 60z

Syeeol-

[4 marks]
10+3-S
minutes
[4 marks]
SO0 m
1260 Spcs
S000
\260
m/s

LAt
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8 The histogram shows information about the amount of fizzy drink consumed
per day by some Year 9 students in a particular city.
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8 (a) 50 students consumed between 0 and 200 ml of fizzy drinks per day.
34 students consumed between 600 and 800 ml of fizzy drinks per day.
No students consumed more than 1000 ml of fizzy drinks per day.
Complete the histogram. [3 marks]
fp= so D= 3%
290 100
= 025 - 0O \q'
8 (b) In the city there are 12,000 Year 9 students.

www. 1stclassmaths.com

Estimate how many of the students in the city consume more than 800 ml of
fizzy drink per day. [3 marks]

SO+90 + 4o +3A4U + 26 =

26 . 12000 = |3 2%
2SO

3 23

Answer

© 1stclassmaths



http://www.1stclassmaths.com/

u y r@ @1stclassmaths

9
9 The histogram shows information about the heights of 200 trees in a park.
The histogram is incomplete.
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9 (a) 40 of the trees were between 15 metres and 25 metres in height.

Height of Tree (metres)

None of the trees had a height of more than 50 metres.

Complete the histogram.

200 - %0 —=|bD

A2 Squares =

9 (b) Work out an estimate for the median height of the 200 trees.

200 = L= |00*" ree,

Answer

How does the trimming of these trees affect the median height?

Tick one box.

160 Areee

8 Sq uares = 4o drees

[3 marks]

[2 marks]

[S+6-28 = )28
21- 25

9 (c) Trees that are taller than 40 metres are deemed to be too tall.

The park ranger arranges for the trees taller than 40 metres to be trimmed so
that they are exactly 35 metres tall.

Median height increases

Aedian height is unchanged

www. 1stclassmaths.com

metres

[1 mark]

Median height decreases

It is not possible to tell
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10 The histogram shows information about the masses of some eggs produced
on a farm during a year.
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10 (a) 30% of the eggs produced had a mass between 55g and 60g.
None of the eggs produced had a mass greater than 70g or less than 45g.

Complete the histogram.
[3 marks]

300X S=1500¢eq9s  |SO + FS0 + 500
+ (650 = oSO

100 /-~ SD0Oesas 49S0-+2-S= 380
10 (b) Eggs that have a mass of between 55g and 70g are sold at a market.

Work out the percentage of the eggs produced on the farm that were sold at the
market. [3 marks]

S0 +(6S0 = 2600

200 x O = SZO/D
S 000

S 2 "

Answer

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

u y r@ @1stclassmaths 1

11 Steve tested two different types of mobile phone battery to see how long they
lasted on one charge.
He tested 240 batteries from Company A and 240 batteries from Company B.
The histogram shows information about the batteries from Company A.
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The box plot shows information about the batteries from Company B.

LS sin Wars med.‘av\ = 4 -8 s
Y -0 = S bhws

|7
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QR s

>

Compare the distribution of battery lives from Company A and Company B.

LQ=GD% Med an - QOW UQ = \gom ol
=T Shre =4S hrg =SIChe = L g
EQ?\'*U‘\& kTDN\ (OwmPawy E \ac\'ed (ovgev’ on
O\\Ie!rcﬁc, w‘\’\\zd l/\ack o b\i‘j\'\e&r’ w\ed;qy\
The \DD:H’CXB \i&e b—\r Lompainy B's bokteries wat more,

onsistent as they had o lower \wier qwxﬁ\'le_ ronge,
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